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1. Find the equation of the circle with (a)

centre (0,2) and radius 2 (b) centre (-2,3) and

radius 4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AHFK1DnaDIdr


Watch Video Solution

2. Find the equation of the circle in following

cases. 

centre  and radius .

Watch Video Solution
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3. Find the equation of the circle with centre

(1,1) and radius 

Watch Video Solution

√2

https://dl.doubtnut.com/l/_AHFK1DnaDIdr
https://dl.doubtnut.com/l/_0LyHMXBHkKbc
https://dl.doubtnut.com/l/_YyA9eSak0lCl


4. Find the equation of the circle with centre (-

a,-b) and radius 

Watch Video Solution

√a2 − b2

5. Find the centre and the radius of the

following circle 

Watch Video Solution

(x + 5)2 + (y − 3)2 = 36

https://dl.doubtnut.com/l/_YyA9eSak0lCl
https://dl.doubtnut.com/l/_DI6QAZJk3ui7
https://dl.doubtnut.com/l/_jIgOVXTOGcaL


6. Find the centre and radius of the following

circles. 

Watch Video Solution

x2 + y2 − 4x − 8y − 45 = 0

7. Find the centre and radius of the circle. 

.

Watch Video Solution

x2 + y2 − 8x + 10y − 12 = 0

https://dl.doubtnut.com/l/_YQTxEIbUvrIE
https://dl.doubtnut.com/l/_2q2HiBfooNgw


8. Find the centre and radius of the following

circles. 

Watch Video Solution

2x2 + 2y2 − x = 0

9. Find the equation of the circle passing

through the points (4,1) and (6,5) and whose

centre is on the line 

Watch Video Solution

4x + y = 16

https://dl.doubtnut.com/l/_hBq6fEMFkl8H
https://dl.doubtnut.com/l/_G3fxMBHiA5E2
https://dl.doubtnut.com/l/_iQtsHlapQT5Z


10. Find the equation of the circle passing

through the points (2,3) and (-1,1) and whose

centre is on the line x-3y-11 = 0

Watch Video Solution

11. Find the equation of the circle with radius 5

whose centre lies on x-axis and passes

through the point (2,3).

Watch Video Solution

https://dl.doubtnut.com/l/_iQtsHlapQT5Z
https://dl.doubtnut.com/l/_OJzAjeNzDmY0
https://dl.doubtnut.com/l/_Etay7I1dvwnr


12. Find the equation of the circle passing

through (0,0) and making intercepts a and b

on the co-ordinate axes.

Watch Video Solution

13. Find the equation of the circle with centre

(2,2) and passing through the point(4,5).

Watch Video Solution

https://dl.doubtnut.com/l/_Etay7I1dvwnr
https://dl.doubtnut.com/l/_vLSZNpdiljJ0


14. Does the point (-2.5,3.5) lie inside, outside

or on the circle 

Watch Video Solution

x2 + y2 = 25

15. Consider a circle with centre (2,-1) and

which passes through (3,6) Find the radius of

the circle

Watch Video Solution

https://dl.doubtnut.com/l/_mDR8nAMcBF8b
https://dl.doubtnut.com/l/_p66oZwBLct1f


16. Consider a circle with centre (2,-1) and

which passes through (3,6).Find the equation

of the circle

Watch Video Solution

17. Find the point of intersection of the lines

3x-y = 2 and x+2y = 3

Watch Video Solution

https://dl.doubtnut.com/l/_sjSKGvborKSW
https://dl.doubtnut.com/l/_rfxf3WLEQGcV


18. If the lines 3x-y = 2 and x+2y = 3 are two

diameters of a circle and if the circle passes

through (2,0), find the equation of the circle.

Watch Video Solution

19. If (-a,-a) are the co-ordinates of a point

which lies on x-2y = 3, find the value of a

Watch Video Solution

https://dl.doubtnut.com/l/_4EaSPs3wslZo
https://dl.doubtnut.com/l/_MYIXfANTxszQ


20. Find, the equation of the circle which

touches both the axes and whose centre lies

on x-2y = 3

Watch Video Solution

21. Consider a triangle whose sides are along

x+y = 2, 3x-4y = 6 and x-y = 0 

Find the vertices of the triangle

Watch Video Solution

https://dl.doubtnut.com/l/_Wl1jCG9okOCU
https://dl.doubtnut.com/l/_SADhj51J8CDv
https://dl.doubtnut.com/l/_wwe5wMmr74iY


22. Consider a triangle whose sides are along

x+y = 2, 3x-4y = 6 and x-y = 0 .Prove that the

triangle is right angled

Watch Video Solution

23. Consider a triangle whose sides are along

x+y = 2, 3x-4y = 6 and x-y = 0.Find the mid point

of the hypotenuse and the length of the

hypotenuse

Watch Video Solution

https://dl.doubtnut.com/l/_wwe5wMmr74iY
https://dl.doubtnut.com/l/_IufIUBRmeIKo


24. Consider a triangle whose sides are along

x+y = 2, 3x-4y = 6 and x-y = 0 

Find the equation of the circum circle of the

triangle

Watch Video Solution

25. Consider the points A (4,3), B (8,-3) and C

(0,9).Find the slopes of AB and BC

Watch Video Solution

https://dl.doubtnut.com/l/_uySZv8iHUyXX
https://dl.doubtnut.com/l/_vdVvPZB46rkn
https://dl.doubtnut.com/l/_yY1qHwhzVbBy


26. Consider the points A (4,3), B (8,-3) and C

(0,9) 

Prove that A, B, C can't lie on a circle

Watch Video Solution

27. Express the equation

 in standard

form

Watch Video Solution

2x2 + 2y2 − 3x + 4y − 1 = 0

https://dl.doubtnut.com/l/_yY1qHwhzVbBy
https://dl.doubtnut.com/l/_gIZWfW65jHQn
https://dl.doubtnut.com/l/_FCUhZnb5V9ur


28. Find the centre and radius of the circle

View Text Solution

29. Prove that the equations of concentric

circles differ only in the constant term

View Text Solution

30. Find the radius and hence the area of the

circle 

Watch Video Solution

x2 + y2 − 6x + 12y + 15 = 0

https://dl.doubtnut.com/l/_FCUhZnb5V9ur
https://dl.doubtnut.com/l/_gOzIL5nUCRGm
https://dl.doubtnut.com/l/_PdiFNmJSgB3Z


31. Find the equation of the circle concentric

with the circle 

and double of its area

Watch Video Solution

x2 + y2 − 6x + 12y + 15 = 0

32. Consider the circle

.What is the

general form of the equation of a circle

concentric with the given circle?

x2 + y2 − 4x − 6y − 3 = 0

https://dl.doubtnut.com/l/_PdiFNmJSgB3Z
https://dl.doubtnut.com/l/_fTplGFToOZ6w
https://dl.doubtnut.com/l/_Ep7dSHkG8tMe


Watch Video Solution

33. Consider the circle




Find the radius of the circle

Watch Video Solution

x2 + y2 − 4x − 6y − 3 = 0

34. Consider the circle

 


If this circle touches the y axis, find its

equation

x2 + y2 − 4x − 6y − 3 = 0

https://dl.doubtnut.com/l/_Ep7dSHkG8tMe
https://dl.doubtnut.com/l/_WqPK33TusfTX
https://dl.doubtnut.com/l/_oDhhosAUNxWu


View Text Solution

35. Arun draws a circle with centre at (-1,-2) and

radius . What may be its algebric equation?

Watch Video Solution

√5

36. If (-1,-2) and (5,2) are the end points of a

diameter of a circle, find its centre and radius

Watch Video Solution

https://dl.doubtnut.com/l/_oDhhosAUNxWu
https://dl.doubtnut.com/l/_QCdbzE2uw6V9
https://dl.doubtnut.com/l/_oWd1JVXrVqji
https://dl.doubtnut.com/l/_IJa2nofdwd6T


37. Can you write the equation of circle by

using two different methods?

Watch Video Solution

38. Write the slopes of the lines 2x+3y-9=0 and

4x+6y+19=0. What do you observe?

Watch Video Solution

39. Find the distance between them.

https://dl.doubtnut.com/l/_IJa2nofdwd6T
https://dl.doubtnut.com/l/_GEjQx2fxWp0Q
https://dl.doubtnut.com/l/_rszUO6xNXvjl


View Text Solution

40. If they are the tangents of a circle, write

the radius of the circle

View Text Solution

41. Find the centre of the circle

Watch Video Solution

x2 + y2 − 5x + 2y − 48 = 0

https://dl.doubtnut.com/l/_rszUO6xNXvjl
https://dl.doubtnut.com/l/_hQlT5I7t9bsL
https://dl.doubtnut.com/l/_Ppuv4Z2wQge2
https://dl.doubtnut.com/l/_KAWiwB6vWwXg


42. Prove that (5,6) lies on the circle

Watch Video Solution

x2 + y2 − 5x + 2y − 48 = 0

43. Find the equation of this normal

View Text Solution

44. Complete the following table 

View Text Solution

https://dl.doubtnut.com/l/_KAWiwB6vWwXg
https://dl.doubtnut.com/l/_6nRJByIW0qX2
https://dl.doubtnut.com/l/_9OQfaWaxLqJJ


45. Find the equation of the circle passing

through (1,0),(2,-7) and (8,1). Hence prove that

(1,0),(2,-7),(8,1) and (9,-6) are concyclic

View Text Solution

46. For the following parabolas find the co-

ordinates of the focus, equation to the

directrix, equation to the axis, co-ordinates of

the vertex and length of latus rectum. y2 = 6x

https://dl.doubtnut.com/l/_9OQfaWaxLqJJ
https://dl.doubtnut.com/l/_rWYnDUqrAbnU
https://dl.doubtnut.com/l/_0NpRncsjy6bP


Watch Video Solution

47. For the following parabolas find the co-

ordinates of the focus, equation to the

directrix, equation to the axis, co-ordinates of

the vertex and length of latus rectum.

Watch Video Solution

2y2 = − 8x

48. For the following parabolas find the co-

ordinates of the focus, equation to the

https://dl.doubtnut.com/l/_0NpRncsjy6bP
https://dl.doubtnut.com/l/_Osph2vBHltAQ
https://dl.doubtnut.com/l/_ahtKTu9G9Iem


directrix, equation to the axis, co-ordinates of

the vertex and length of latus rectum. 

Watch Video Solution

x2 = 4y

49. For the following parabolas find the co-

ordinates of the focus, equation to the

directrix, equation to the axis, co-ordinates of

the vertex and length of latus rectum.

Watch Video Solution

16x2 = − 25y

https://dl.doubtnut.com/l/_ahtKTu9G9Iem
https://dl.doubtnut.com/l/_DIvzFeA8AQXZ
https://dl.doubtnut.com/l/_mMtK9tcRB6n2


50. Find the equation of the parabola if 

the vertex is at the origin and the focus is (1,0)

Watch Video Solution

51. Find the equation of the parabola if 

the vertex is at the origin and the focus is

(0,-4)

Watch Video Solution

https://dl.doubtnut.com/l/_mMtK9tcRB6n2
https://dl.doubtnut.com/l/_yDhO213EnTLY


52. In each of the following cases, find the co-

ordinates of the focus, axis of the parabola,

the equations of the directrix and the length

of the latus rectum 

Watch Video Solution

y2 = 12x

53. In each of the following cases, find the co-

ordinates of the focus, axis of the parabola,

the equations of the directrix and the length

of the latus rectum x2 = 6y

https://dl.doubtnut.com/l/_Q4mECPnqX1Sf
https://dl.doubtnut.com/l/_cpPRRC3u4sla


Watch Video Solution

54. In each of the following cases, find the co-

ordinates of the focus, axis of the parabola,

the equations of the directrix and the length

of the latus rectum 

Watch Video Solution

y2 = − 8x

55. In each of the following cases, find the co-

ordinates of the focus, equation of axis of the

parabola, the equations of the directrix and

https://dl.doubtnut.com/l/_cpPRRC3u4sla
https://dl.doubtnut.com/l/_o2PXUoIJoBRM
https://dl.doubtnut.com/l/_f6fmfSfdHnFD


the length of the latus rectum 

Watch Video Solution

x2 = − 16y

56. In each of the following cases, find the co-

ordinates of the focus, axis of the parabola,

the equations of the directrix and the length

of the latus rectum 

Watch Video Solution

y2 = 10x

https://dl.doubtnut.com/l/_f6fmfSfdHnFD
https://dl.doubtnut.com/l/_cqzJlrIKBhl6
https://dl.doubtnut.com/l/_5x4ebC3IP1L5


57. In each of the following cases, find the co-

ordinates of the focus, axis of the parabola,

the equations of the directrix and the length

of the latus rectum 

Watch Video Solution

x2 = − 9y

58. Find the equation of the parabola

satisfying the following condition, 

focus(6,0), directrix .

Watch Video Solution

x = − 6

https://dl.doubtnut.com/l/_5x4ebC3IP1L5
https://dl.doubtnut.com/l/_yarpLoR6ANGB


59. Find the equation of the parabola whose

focus is (0,-3) and directrix is y=3

Watch Video Solution

60. Find the equation of the parabola whose

vertex is (0,0) and focus is (3,0)

Watch Video Solution

https://dl.doubtnut.com/l/_yarpLoR6ANGB
https://dl.doubtnut.com/l/_93dGYMafjN8A
https://dl.doubtnut.com/l/_puHS4fiGXy3B


61. Find the equation of the parabola whose

vertex is (0,0) and focus is (-2,0)

Watch Video Solution

https://dl.doubtnut.com/l/_hNZOcrt0KtUg

